Vent Tray Assembly




Vent Tray Assembly

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 1044939-NLA | NLA - Screw, Hex Head (5/16-18 x 1-3/4") 1 4
2 1055304 Screw, Socket Button Head (1/4-28 x 5/8") 1 4
3 1026158 Locknut (5/16-18) 1 4
4 1052426-NLA | NLA - Buckle, Slide Release 1 3
5 1052424-NLA | NLA - Strap with Slide Release Buckle (22" Long) 1 6
6 1025765 Locknut (1/4-28) 1 4
7 1093511-NLA | NLA - Clamp (1") 1 2
8 1093385-NLA | NLA - Tray, Ventilator 1 1
9 1012172-NLA | NLA - Clamp, Saddle 1 1
10 1008495 Screw, Socket Button Head (1/4-20 x 1-1/2") 1 2
11 1088932 Screw, Socket Button Head (1/4-20 x 3/8") 1 2
12 1093386-NLA | NLA - Hanger, Battery Tray 1 1
13 See Chart #13 Vent Tray Hanger 1 1
14 1093382-NLA | NLA - Hanger, Vent Tray - Right 1 1
14 1093383-NLA | NLA - Hanger, Vent Tray - Left 1 1
15 1025195 Locknut (1/4-20) 1 4
16 See Chart #16 Vent Tray Assembly 1 1
17 1095747 Top, Battery Box 1 1
18 1057944 Battery Box Bottom with Strap, 22NF 1 1
AB 1093582-NLA | NLA - Instruction Sheet, Vent Tray 1 1
NOTE: A - Not Shown
B - Item is no longer available from the Invacare Service Parts Department. Refer to the Invacare Website under "Product
Literature Search". Enter the part number in the "Keywords" field and download a free PDF version copy.
#13 Vent Tray Hanger
16" Wide

17" Wide

18" Wide

19" Wide

20" Wide

21" Wide

22" Wide

1093496-NLA

1093497-NLA

1093498-NLA

1093499-NLA

1093500-NLA

1093501-NLA

1093502-NLA

#16 Vent Tray Assembly

16" Wide

17" Wide

18" Wide

19" Wide

20" Wide

21" Wide

22" Wide

1093637-NLA

1093638-NLA

1093639-NLA

1093640-NLA

1093641-NLA

1093642-NLA

1093643-NLA

Includes items 1-15




